

Write down the result of the operations. In each case, explain how you arrived at your result.

a)	-6+	2 =

b)
$$6 + (-2) =$$

c)
$$-6 + (-2) =$$

d)
$$2-6=$$

This material is provided by the AMMA Team, responsible institution: Pedagogical University of Krakow



Unless otherwise noted, this work and its contents are licensed under This work is licensed under a Creative Commons License CC BY-NC-SA 4.0 Excluded are funding logos and CC icons / module icons.



Write down the result of the operations. In each case, explain how you arrived at your result.			
e) -2 - 6 =	f) -6 - (-2) =	g) -6-2=	h) 6 – (-2) =

This material is provided by the AMMA Team, responsible institution: Pedagogical University of Krakow

